
With level line of sight, difference of rod readings = difference of elevation. With non-level line of sight, 
difference of rod readings does NOT = difference of elevation. HOWEVER, if ranges of backsight & 
foresight are equal, then you become UNAFFECTED by line of sight error. 
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This works for interpolating a .sp3 (orbit) file from 15 minute interval down to interval of 
observation 1s, 5s, 10s, 30s.  Known as Lagrange Interpolation.  With 10 points, 
interpolated positions should be accurate to 1mm. Move the support points so the point 
you are interpolating is in the middle interval, as shown above. 

Lagrange Interpolation 
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